10-22

Chapter 10:  Cost Recovery on Property





Chapter 10:  Cost Recovery on Property

10-23

_________________________________________________________________

CHAPTER 10

COST RECOVERY ON PROPERTY

_________________________________________________________________

DISCUSSION QUESTIONS
 1.
How does the allowable capital recovery period affect the potential return on the investment in an asset?


The period in which capital can be recovered affects the return on an investment in an asset through the tax savings the deduction provides.  The time value of money factor makes earlier capital recovery (i.e., earlier tax savings) more valuable.  Therefore, the more rapid an asset's cost can be written off, the greater the return on that asset from the tax savings generated by the deduction.

 2.
Which two tests must be met to claim a periodic recovery deduction on a capital expenditure?


To claim a periodic recovery deduction on a capital expenditure, the expenditure must be made for a business purpose (either in a trade or business or in an investment activity) and the expenditure must have a definite useful life.  Assets that are used for purely personal purposes (e.g., the family automobile) or which do not have a definitive life (e.g., land) do not qualify for any periodic capital recovery deduction.

 3.
What types of capital expenditures are not deductible over time (i.e., their cost is recovered upon disposition of the asset)?


Assets that do not have a business purpose (i.e., personal use assets) and those with indefinite lives (e.g., land and securities) are not deductible until they are disposed of.  Even then, the recovery on personal use assets is limited to the amount realized from the disposition (personal use losses are not deductible).

9.
In general, taxpayers want to depreciate property as rapidly as possible.  Under what circumstances might a taxpayer not want to use accelerated depreciation?  How can this be done under MACRS?


There are two situations in which a taxpayer may not want to use accelerated depreciation.  First, if the taxpayer is experiencing losses or low current period incomes, he or she may wish to defer more of the deduction to later periods in anticipation of higher incomes.  Second, the accelerated portion of the depreciation (i.e., accelerated due to method and class life) is subject to the alternative minimum tax.  Thus, a taxpayer in or near an alternative minimum tax situation may find that using the accelerated MACRS depreciation is more costly.


Taxpayers are allowed to elect straight-line depreciation under MACRS.  Depreciation can be calculated over the class life of the asset or the Alternate Depreciation System life.  The ADS life is used to calculate the alternative minimum tax depreciation and is used by taxpayers desiring to avoid the alternative minimum tax.

13.
What is the Alternative Depreciation System?  How is it different from a straight-line election under MACRS?


The alternate depreciation system (ADS) is used to calculate the allowable depreciation for alternative minimum tax purposes.  The ADS generally uses straight-line depreciation over longer tax lives than that for MACRS.  However, tangible personal property with a class life of 3, 5, 7, or 10 years that uses regular MACRS depreciation must use 150% declining balance depreciation with optimal switch to straight-line over the MACRS class life for alternative minimum tax purposes.  A straight-line election can be made under MACRS to depreciate property over either the class life of the property or the ADS life.  Thus, taxpayers can elect to use ADS to calculate depreciation for regular tax purposes.

PROBLEMS
21.
Peter Corporation purchases the following assets during the current year.  Identify which assets are not subject to cost-recovery using depreciation, and state why that is so.

a.
Land


Land is not depreciable because it does not have a definite life.  The investment in land is recovered when it is disposed of in a taxable transaction.

b.
Copyright


A copyright is an intangible asset.  Therefore, it does not depreciate.  Rather, intangible assets with limited useful lives are amortized over its useful life.  A copyright is amortized over 50 years plus the author's life.

c.
Building


A building is tangible property that is subject to wear, tear, and obsolescence.  Therefore, buildings are depreciable property.

d.
Goodwill


Goodwill is an intangible asset.  Intangible assets do not depreciate, they are amortized over the useful life of the asset.  Prior to August 9, 1994, goodwill was deemed not to have a useful life and could not be amortized.  The investment in goodwill was recovered when the business creating the goodwill was disposed of in a taxable transaction.  Goodwill purchased after August 9, 1994, can be amortized over 15 years.

e.
Inventory for sale in its store


Inventory is held for resale, it does not depreciate in value.  Rather, the cost of the inventory is deducted against the sales price when the inventory is sold.

f.
500 shares of Excellent common stock


Stock does not depreciate because it does not have a definite useful life.  The investment in stock is recovered when the stock is sold.

g.
A house to be rented out


A rental house is depreciable real property.  It is subject to wear, tear, and obsolescence, and therefore, has a definite useful life.

h.
Equipment for use in its business


Equipment is tangible personal property.  It is subject to wear, tear, and obsolescence, and therefore, has a definite useful life.

i.
An interest in an oil well


An interest in an oil well does not depreciate; it is an intangible asset that has a definite useful life.  The cost of an oil well is recovered through depletion.

j.
A car that will be used 60% for business and 40% for personal use


A car is tangible personal property.  It is subject to wear, tear, and obsolescence and therefore, has a definite useful life.  However, to deduct depreciation, there must be a business purpose for the asset.  Therefore, only the 60% business use portion is subject to depreciation.  The personal use portion is not depreciable.

22.
State whether each of the following expenditures incurred during the current year should be treated as a repair expense or capitalized and depreciated using MACRS:

a.
Replacement of the carpeting in a rental apartment


The replacement of the carpet is a maintenance cost that does not extend the useful life of the rental apartment.  Therefore, the cost of the carpeting is a maintenance expense.  However, if the carpeting is done as part of the purchase of the rental apartment, it is capitalized as part of the cost of readying the apartment for its intended use.

b.
Replacement of the drill bit on a gas-powered post-hole digger


The drill bit is tangible property.  If its useful life does not extend beyond the year placed in service, its cost is considered a repair expenditure and it is deducted in the current year.  If the drill bit has a useful life extending beyond the year placed in service, its cost is capitalized and depreciated.

c.
Replacement of the water in the ponds of a catfish farm


Generally, water is not depreciable because it does not have a definite life.  However, this particular water probably has a definite life  because it has a specific use.  The expenditure is more like a repair cost.  Therefore, it is deducted in the year incurred.  However, if it can be established that the water has a useful life to the activity of greater than a year, its cost will be capitalized and depreciated.

d.
Replacement of spark plugs in a delivery truck


Replacing spark plugs does not increase the capacity or extend the useful life of the truck.  The spark plugs merely allow the truck to perform in its intended operating condition.  Therefore, the cost of the spark plugs are expensed as a repair cost.

e.
Repainting the exterior of a personal use auto


The repainting does not extend the useful life of the auto.  Therefore, the cost is not capitalized and is a current expense similar to a repair.  However, the cost is not deductible since it is a personal expense.

26.
In 2007, Terrell, Inc., purchases machinery costing $488,000.  Its 2007 taxable income before considering the Section 179 deduction is $80,000.

a.
What is Terrell's maximum Section 179 deduction in 2007? Explain.


Because Terrell acquired over $450,000 of qualifying Section 179 property, the annual investment limit applies.  The $112,000 annual deduction is reduced dollar for dollar by the amount of the investment in qualifying property in excess of $450,000.  Terrell's Section 179 deduction is reduced by $38,000 ($488,000 - $450,000) and its Section 179 deduction is limited to $74,000 ($112,000 - $38,000).  The taxable income limit does not affect the amount of the 2007 Section 179 deduction because the $80,000 taxable income exceeds the $74,000 maximum election to expense.

b.
What is the depreciable basis of the equipment?


The depreciable basis of the equipment is $414,000 ($488,000 - $74,000).  The acquisition cost of the equipment is reduced by the amount of the Section 179 election for the current year. 

28.
During 2007, Belk Corporation purchases $70,000-worth of equipment for use in its business. Belk's current taxable income before considering the Section 179 deduction is $26,000.

a.
What is Belk's maximum Section 179 deduction in 2007? Explain.


The taxable income limitation applies to this scenario.  That is, the maximum Section 179 deduction is limited to the taxpayer's taxable income calculated before the Section 179 deduction.  Although Belk purchased $70,000 of qualifying Section 179 property, it can deduct only $26,000, the amount of taxable income from the business.  The $44,000 ($70,000 - $26,000) excess may be carried forward to 2008.  Note:  If Belk elects to expense only $26,000, no carryforward results.  However, its basis in the property is $44,000 instead of zero.

b.
Belk's 2008 business taxable income---before a Section 179 deduction---is $50,000. What is Belk's maximum Section 179 deduction in 2008? Explain.


Assuming that Belk elected to expense $70,000 in 2007, under the taxable income limitation, a maximum of $44,000 can be deducted.  Since Belk’s carryforward of $44,000 is less than its taxable income, the full amount of the carryforward can be deducted in 2008.  If Belk only expenses $26,000 in 2007, then there is no deduction in 2008 but its depreciable basis in the property is $44,000 instead of zero.

29.
Brad is a shareholder and full-time employee of an S corporation.  During 2007, he earns a $50,000 salary from the S corporation and is allocated $12,000 as his share of its net operating loss.  In addition, Brad owns a limited partnership interest from which he earns $12,000 during 2007.  Kanika, Brad's wife, operates a small business as a sole proprietorship.  During 2007, she spends $65,000 on equipment for use in her business, which has a taxable income of $17,000 before the Section 179 deduction.

a.
What is Brad and Kanika's maximum Section 179 deduction for 2007?


The maximum Section 179 deduction for 2007 is $112,000.  However, this amount is limited to Brad and Kanika's trade or business income (i.e., his salary, share of S corporation income and Kanika's business income) during the year.  In this case, Brad and Kanika have $55,000 of income from their individual business interests:

Brad's salary





$ 50,000

Brad's share of NOL of S corporation

  (12,000)

Kanika's business income



   17,000
Total trade or business income


$ 55,000

The limited partnership income is not trade or business income (limited partnerships are always passive and are never a trade or business).


For 2007, married taxpayers are only allowed to expense a total of $112,000 between them.  Kanika purchased $65,000 of qualifying property, so she may expense $55,000 of the cost of the property, leaving a depreciable basis of $10,000.  Alternatively, she could elect to expense the maximum $65,000 (i.e., amount of equipment acquired), although her deduction is limited to $55,000.  The $10,000 ($65,000  -  $55,000) excess election to expense is carried forward to 2008 for deduction as a Section 179 expense.  This would leave a zero depreciable basis in the equipment. 

b.
Assume that Brad is allocated $12,000 in Section 179 expense from the S corporation for 2008 and Kanika spends an additional $14,000 on equipment for use in her business.  Also, assume that their taxable active business income is $35,000 for 2008. What is Brad and Kanika's maximum Section 179 deduction for 2008?


They have $26,000 of qualifying purchases in 2008 - the $12,000 election to expense from the S corporation and the $14,000 of equipment purchased.  The calculation of the Section 179 deduction depends on whether Kanika elected to expense only $55,000 of the maximum $65,000 in 2007.  If she did, there would be no carryforward and if she chooses to expense the maximum in 2008, the Section 179 deduction is $26,000 and the basis of the equipment is $0 ($14,000  -  $14,000):

179 Election from S corporation



$ 12,000

Equipment purchased 





   14,000
Maximum section 179 expense deduction

$ 26,000

If Kanika had elected to expense the full $65,000 in 2007, the $10,000 carryforward is deducted first in 2008.  If she chooses to expense the full amount of the equipment in 2007, the $35,000 Section 179 deduction consists of: the $10,000 carryforward from 2007, the Section 179 election from the S corporation and $13,000 from the Section 179 election in 2008.  The basis in the equipment is $-0-.

179 Election carryforward from 2007


$ 10,000

179 Election from S corporation



   12,000

Equipment purchased





   14,000
Total Section 179 elected




$ 36,000

Maximum section 179 expense deduction

  (35,000)
Section 179 carryforward to 2009



$   1,000

34.
Determine the class life, MACRS recovery period, and ADS recovery period of each of the following assets acquired for a sports bar:

a.
Pool table


A pool table is in asset class 79.0, has a class life of 10 years, MACRS recovery period of 7 years, and ADS recovery period of 10 years.

b.
Safe 


A safe is in asset class 00.11, has a class life of 10 years, MACRS recovery period of 7 years, and ADS recovery period of 10 years.

c. 
Photocopying machines 


Photocopiers are in asset class 00.13, have a class life of 6 years, MACRS recovery period of 5 years, and ADS recovery period of 6 years.

d.
Pickup truck


Pickup trucks are in asset class 00.241, have a class life of 4 years, MACRS recovery period of 5 years, and ADS recovery period of 5 years.

e.
Electronic video games


Video games do not have a specified asset class.  Therefore, the category for personal property with no class life is used.  The MACRS recovery period is 7 years, and the ADS recovery period is 12 years.

f.
Brewing tanks for the bar's microbrewery


Brewing tanks do not have a specified asset class.  Therefore, the category for personal property with no class life is used.  The MACRS recovery period is 7 years, and the ADS recovery period is 12 years.

g.
Four-year-old racehorse named GofortheBrew purchased by the bar owners and raced locally 


Four-year-old racehorses are in asset class 01.223, have no class life, MACRS recovery period of 3 years, and ADS recovery period of 12 years.

h.
Point-of-sale computerized cash registers


Point-of-sale registers are not specifically listed in asset class 00.12.  The best choice is probably asset class 00.13 Data Handling Equipment with a class life of 6 years, MACRS recovery period of 5 years, and ADS recovery period of 6 years.

37.
The United Express Company begins business in August 2006 by purchasing the assets listed in the table below.  Calculate the maximum MACRS depreciation on the assets.

Asset




   Cost

Trucks



$98,000

Tractor units



  55,000

Office equipment


  84,000


To claim the maximum MACRS depreciation, the company should elect to expense the maximum $112,000 allowed under Section 179 for 2007.  In addition, the company should elect to expense the assets with the longest useful life.  United's cost recovery deduction is $144,333.


Office Equipment (7-year life):

Election to expense






$  84,000


Trucks (5-year life):

Election to expense
($112,000 - $84,000)


    28,000

Depreciable basis ($98,000 - $28,000)

$70,000

First-year depreciation (Table A10-2)

x       20%     

Cost-recovery on trucks





    14,000


Tractor Units ( 3-year life):

Depreciable basis




$55,000


First-year depreciation (Table A10-2)

x  33.33%

Cost-recovery on tractor units




    18,333

Total 2007 cost recovery





$144,333

41.
Larry purchases machinery for his business (7-year MACRS property) on April 1, at a cost of $165,000.  On June 1, he spends $84,000 for equipment (5-year MACRS property).

a.
What is the maximum deduction allowable?


To obtain the maximum deduction, Larry should elect to expense $112,000 of the cost of the purchases and use the regular MACRS depreciation system.  To maximize the election to expense deduction, the $112,000 should be allocated to the property with the longest useful life, in this case the machinery.  This will result in a 2007 cost-recovery deduction of $136,374:

Cost Recovery on Machinery
Election to expense





$112,000

Depreciable basis ($165,000  -  $112,000)
$ 53,000

1st year depreciation (Table A10-2)

x   14.29%
      7,574
Cost-recovery on machinery




$119,574
Cost Recovery on Equipment
Depreciable basis



$ 84,000

1st year depreciation (Table A10-2)

x        20%
    16,800
Total 2007 cost recovery




$136,374
b.
What is the minimum deduction allowable?


To minimize the deduction allowable, Larry should not elect to expense any of the cost and elect to use straight-line depreciation over the ADS life.  Machinery has no assigned class life, so the ADS recovery period will be 12 years, the ADS recovery period for property without a class life.  The first year ADS straight-line for 12-year property is 4.17% [(1  (  12) x 50% mid-year convention].  For equipment, the ADS recovery period is 10 years, and the first year ADS straight-line for 10-year property is 5% [(1  (  10) x  50% mid-year convention].  Therefore, the minimum allowable deduction would be $11,081:

Machinery depreciable basis
($165,000  x  4.17%)

$  6,881

Equipment depreciable basis
($  84,000  x  5.00%)

    4,200
Minimum depreciation deduction




$11,081

42.
Kris starts a new business in 2007.  She purchases 7-year MACRS property costing $12,000.  Her business income before any cost-recovery deductions is $8,000. 

a.
What is the maximum cost-recovery deduction allowable for 2007?


The maximum cost-recovery deduction is obtained by electing to expense the maximum amount under Section 179 and using the regular MACRS method to compute depreciation.  In this case, if the Section 179 election maximum amount is elected, only $8,000 of the $12,000 election is deductible in the current period due to the income limitation.  The remaining $4,000 of the election is carried forward and used after any Section 179 election in the carry forward period.  However, the depreciable basis in the property must be reduced by the full amount elected, even if it is not deducted in full in the election period.  

b.
How does your answer change if Kris informs you that she plans to make significant investments in personal property over the next 3 years?


Because Kris anticipates future purchases of qualifying property that may be able to use the full Section 179 expense election amount, it would be better to only elect to expense the $8,000 taxable income limit in 2007.  The $4,000 remaining basis is depreciated over the 7-year MACRS recovery period. This increases the current deduction with no reduction in future amounts.  Kris’s maximum 2007 depreciation deduction is $8,572:

Election to expense






$ 8,000

Depreciable basis ($12,000  -  $8,000)

$  4,000

1st year depreciation (Table A10-2)


x  14.29%
      572
Total 2007 depreciation deduction




$ 8,572

If Kris elected to expense the full $12,000 allowed, the maximum 2007 deduction is limited to the $8,000 election to expense:

Election to expense






$8,000

Depreciable basis ($12,000  -  $12,000)

$      -0-

1st year depreciation (Table A10-2 )

x  14.29%
    -0-

Total 2006 depreciation deduction




$8,000

Section 179 carryforward to 2008  =  $4,000

47.
Harold purchases the following business assets on the dates indicated:








Date





Recovery

Asset



Purchased

   Cost   

  Period

Photocopy equipment
  2/14/07

$    5,000


5

Dump truck


  7/16/07

$  30,000


5

Bus





11/24/07

$114,000


5

a.
What is Harold's 2007 cost-recovery deduction if he does not elect to expense any of the assets under Section 179?


Because more than 40% of the purchases of tangible personal property took place in the 4th quarter ($114,000  (  $149,000  =  77%), Harold must depreciate all personal property purchased in 2007 using the mid-quarter convention.  Tables A10-3 through A10-6 provide the depreciation schedules by quarter of acquisition.  Harold's 2007 depreciation deduction is $11,950:






Depreciable
Depreciation
Depreciation


Asset



  Basis  

Percentage

 Deduction
   


Photocopy Equipment  $    5,000

     35%


$ 1,750










(Table A10-3)


Dump Truck


$  30,000

     15%


$ 4,500










(Table A10-5)


Bus 



$114,000

      5%


$ 5,700












(Table A10-6)

        
   


2007 Cost-Recovery deduction using mid-quarter convention
$11,950

NOTE:  Without the mid-quarter convention, the deduction would have been $29,800  ($149,000  x  20%) under the regular MACRS method.

b.
What could Harold do to maximize his 2007 deduction?


Because the calculation of purchases for purposes of the 40% rule uses the depreciable basis placed in service each quarter, Harold can avoid the mid-quarter convention by electing to expense $112,000 of the bus.  This brings the depreciable basis of the bus down to $2,000 ($114,000  -  $112,000) and the total depreciable basis placed in service during the year to $37,000.  With the election to expense allocated to the bus, Harold will only have placed 5.4% ($2,000  (  $37,000) of the property in service during the 4th quarter and will be able to use the regular MACRS method.  Harold claims $7,400 ($37,000 x 20%) in regular MACRS cost-recovery. His total deduction is $119,400 of depreciation in 2007 ($112,000 election to expense  +  $7,400 of regular MACRS cost-recovery).

48.
The Gladys Corporation buys office equipment costing $186,000 on May 12, 2007.  In 2010, new and improved models of the equipment make it obsolete, and Gladys sells the old equipment for $34,000 on December 27, 2010.

a.
What is Gladys Corporation's gain or loss on the sale assuming that Gladys takes the maximum cost-recovery deduction allowable on the equipment?


The office equipment is considered 7-year property.  To maximize the cost-recovery deductions, Gladys should elect to expense $112,000 of the cost of the equipment, and use the regular MACRS method on the $74,000 ($186,000  -  $112,000) depreciable basis.  Gladys’ cost-recovery deduction on the equipment for 2007 through 2010 is $158,262:






Depreciable

Depreciation
Depreciation

Year


     Basis      

Percentage
 
    Deduction 

2007


Election to expense



$ 112,000


2007


$ 74,000


   14.290%

     10,575

2008


$ 74,000


   24.490%

     18,123

2009


$ 74,000


   17.490%

     12,943

2010


$ 74,000


     6.245%*

       4,621

Total depreciation  






$  158,262

*  Personal property under MACRS is subject to the mid-year convention.  This allows a half-year of depreciation in the year of disposition.  For 2010, a full year of depreciation would be 12.49%.  Therefore, 6.245% is one-half of the 2010 depreciation percentage.


Gladys’ adjusted basis at the date of sale is $27,738 ($186,000  -  $158,262).  This results in a gain on the sale of $6,262 ($34,000  -  $27,738).

b.
What is Gladys Corporation's gain or loss on the equipment assuming that Gladys takes the minimum cost-recovery deduction allowable on the equipment?


To minimize the cost-recovery deductions, Gladys will not elect to expense any of the equipment under Section 179 and use the straight-line method over the Alternate Depreciation System life.  Using Table A10-1, office equipment would have an ADS life of 10-years.  This results in total depreciation deductions for 2007 through 2010 of $54,600:






Depreciable
Depreciation*
Depreciation


Year


     Basis      
  Percentage
  Deduction



2007


$  182,000

     5.00%

$   9,100


2008


$  182,000

   10.00%

   18,200


2009


$  182,000

   10.00%

   18,200


2010


$  182,000

     5.00%**

     9,100

Total Depreciation 

 



$ 54,600

*   Depreciation percentages are from Table A10-11.


**  Personal property under MACRS is subject to the mid-year convention.  This allows a half-year of depreciation in the year of disposition.  For 2010, a full year of depreciation would be 10.00% (5.00% is a half-year of depreciation in 2010).


Gladys' adjusted basis at the date of sale is $127,400 ($182,000  -  $54,600).  This results in a loss on the sale of $93,600 ($34,000  -  $127,400). 


NOTE:  The depreciation calculations from this problem will be needed for problem 61, Chapter 11.

52.
Guadalupe purchases an office building to use in her business at a cost of $520,000.  She properly allocates $20,000 of the cost to the land and $500,000 to the building.  Assuming that Guadalupe would like to deduct the maximum depreciation on the building, what is her first-year depreciation on the building if she purchases the building on

a.
June 30, 1992?


The property is classified as 31.5-year nonresidential real estate because it is placed into service after 1986 and before May 13, 1994. The depreciation rate for month 6 and year one of Table A10-8, is 1.720%.  Multiplying this rate by the depreciable basis of $500,000 results in the first-year depreciation on the building of $8,600.

$500,000 basis of the building  x  1.720%  =  $8,600

b.
June 30, 1994?


Because the property is placed into service after May 12, 1994, the classification is 39-year nonresidential real estate.  The depreciation rate for month 6 and year 1 of Table A10-9 is 1.391%.  Accordingly, the first-year depreciation on the building is $6,955:

$500,000 basis of the building  x  1.391%  =  $6,955

53.
Refer to problem 52.  Guadalupe sells the building on October 26, 2007.  What is her 2007 depreciation deduction if she purchased the building on 

a.
June 30, 1992?


Real property uses the mid-month convention.  In the year of disposition, the property is deemed in service for 9.5 months resulting in a depreciation percentage of 2.513% [3.174%  x  (9.5  (  12)] calculated using Table A10-8.  Therefore, the depreciation deduction is $12,570:

$500,000 depreciable basis  x  2.513%  =  $12,565
b.
June 30, 1994?


In the year of disposition, the property is in service for 9.5 months as per the mid-month convention resulting in a depreciation percentage of 2.030% [2.564%  x  (9.5  (  12)] calculated using Table A10-9.  Therefore, the depreciation deduction is $10,149:

$500,000 depreciable basis  x  2.030%  =  $10,149

57.
May 15, 2006, Lurlene buys a used automobile for $17,000.  She drives it, 9,000 miles for business and 3,000 miles for personal trips during the year.  What is Lurlene’s maximum cost recovery for 2006?


To use regular MACRS, listed property must be used more than 50% in a trade or business use.  Lurlene’s automobile is listed property and her business usage is 75% (9,000  (  12,000 miles).  Lurlene could elect to expense the car under Section 179; however, this is not a good choice since the deduction is subject to the passenger automobile limitation.  Automobiles are 5-year property and regular MACRS depreciation is calculated using Table A10-2.  The deduction is limited to $2,220 in 2006. 

Initial basis






$17,000

Business use percentage




x       75%

Business depreciable basis



$12,750

MACRS % (Table A10-2)




x       20%

Total MACRS depreciation



$  2,550
Annual depreciation limit for auto (Table A10-10)


$2,960

Lurlene’s business use percentage




x     75%

Lurlene’s maximum depreciation on auto in 2006


$2,220


Instructor's Note:  After the book went to press the 2007 maximum deduction limitations were released.  The 2007 maximum deduction also is $3,060.  However, the limit for minivans and SUV’s is $3,260.

58.
On July 4 of the current year, Lawrence invests $240,000 in a mineral property.  He estimates that he will recover 800,000 units of the mineral from the deposit.  During the current year, Lawrence recovers and sells 100,000 units of the mineral for $3.50 per unit.

a.
What are Lawrence's cost depletion deduction for the current year and his adjusted basis for the mineral deposit after deducting depletion?


Cost depletion is calculated using the units of production method.  Each year the remaining depreciable basis is allocated based on the formula:

Units Recovered During the Year
Total Estimated Units Remaining


For Lawrence, this results in a deduction for cost depletion of $30,000.  

$240,000  x
100,000    =  $30,000





800,000


Lawrence's basis in the mineral property after deducting depletion is $210,000 ($240,000  -  $30,000).

b.
If the percentage depletion rate for the mineral is 10%, what are his depletion deduction for the current year and his adjusted basis for the mineral deposit after deducting depletion?


Percentage depletion is calculated by multiplying the selling price of the mineral by the statutory rate for the mineral.  Lawrence's sales are $350,000 (100,000  x  $3.50) and his percentage depletion is $35,000 ($350,000  x  10%).  Lawrence's basis in the property after deducting percentage depletion is $205,000 ($240,000 -  $35,000).

c.
If the statutory percentage depletion rate for the mineral is 10% and Lawrence's income from the mineral before the depletion deduction is $9,200, what are his depletion deduction for the current year and his adjusted basis for the mineral deposit after deducting depletion?


The percentage depletion deduction cannot exceed 50% of the taxable income from the mineral property before the percentage depletion deduction.  Lawrence's percentage depletion deduction is limited to $4,600 ($9,200  x  50%).  Cost depletion is not subject to an income limitation.  Therefore, Lawrence should deduct the $30,000 cost depletion calculated in part a to maximize his depletion deduction.

59.
Isidro purchases an interest in an oil-producing property for $100,000 on November 3.  His geologist estimates 15,000 barrels of oil are recoverable.  The entity sells 1,000 barrels for $20,000 during November and December of the year of acquisition.  Assume the percentage depletion rate for oil is 15%.  Operating expenses related to the revenues are $3,000.

a.
Advise Isidro on the amount of depletion he should deduct in the year of acquisition.


Cost depletion is calculated on a units of production method.  Each year the remaining depreciable basis is allocated based on the formula:

Units Recovered During the Year
Total Estimated Units Remaining


For Isidro, this results in a deduction for cost depletion of $6,667.

$100,000  x  (1,000  (  15,000) =  $6,667


Isidro's adjusted basis in the oil reserves after deducting depletion is $93,333 ($100,000  -  $6,667).


Percentage depletion is calculated by multiplying the selling price of the oil by the statutory rate for the oil.  Isidro's sales are $20,000 and his percentage depletion is $3,000 ($20,000  x  15%).  Isidro's adjusted basis in the property after deducting percentage depletion is $97,000 ($100,000 - $3,000).  Isidro should use cost depletion because it provides him with a greater deduction.

b.
At the end of the second year, the geologist estimates the remaining number of recoverable barrels is 18,000.  Isidro has an offer of $190,000 for his investment.  In the second year, the entity sold only 3,000 barrels of oil.  Gross revenues were $50,000 and operating expenses totaled $4,000.  If Isidro sells the property, what is the amount of his realized gain?


Isidro's cost depletion is $15,556.


$93,333  adjusted basis  x  (3,000  (  18,000)  =  $15,556.


Isidro's adjusted basis is $77,777 ($93,333  -  $15,556) at year end.  If Isidro sells his investment for $190,000, he will realize a gain of $112,223 ($190,000  -  $77,777).


Using percentage depletion, Isidro's depletion amount is $7,500 ($50,000  x  15%).  Therefore, his adjusted basis becomes $92,500 ($100,000 - $7,500).  The sale of the investment realizes a gain of $97,500 ($190,000 - $92,500).

c.
Write a memorandum explaining the details of Isidro's gain.  Include a recommendation about whether he should accept the offer.


The memo should contain an explanation of the calculation of the cost depletion for both years focusing on why that approach is superior to the percentage depletion approach in the present situation.  Isidro's offer for the asset of $190,000 is low when compared to the estimated remaining reserves of 18,000 barrels.  If 4,000 barrels generate about $70,000 in revenues, then the 18,000 barrels could generate about $315,000 [($70,000  (  4,000)  x  18,000] before expenses.  Also, Isidro will be able to deplete the oil when extracted.  If he chooses to use the percentage depletion method, he can deplete an amount greater than the basis of the investment.  The sales offer seems reasonable only if Isidro is in need of cash quickly.

60.
On June 2, 2007, Lokar Corporation purchases a patent for $68,000 from the inventor of a new extrusion process.  The patent has 12 years remaining on its legal life.  Also, Lokar purchases substantially all of the assets of Barrios Corporation for $750,000 on September 8, 2007.  The values of the assets listed in the purchase agreement are as follows:

Inventory




$250,000

Manufacturing equipment


  304,000

Patent on compression process

  105,000

Goodwill





    95,000


Determine the maximum 2007 cost-recovery deductions for the assets purchased.


Intangible assets purchased in connection with the acquisition of a business are amortized over 15 years and the basis of identifiable assets is equal to their purchase price.  The purchased patent and goodwill qualify for the 15 year amortization beginning with the month of acquisition.  The patent acquired separately (from the inventor) is amortized over the remaining useful life.  


Manufacturing Equipment:


Election to expense






$112,000


Depreciable basis ($304,000  -  $112,000)
192,000


1st year depreciation rate (Table A10-2)
x  14.29%

$  27,437

Total depreciation







$139,437

Goodwill and Patent on Compression Process:


Allocated cost







$200,000

 
Amortization rate [(1 year  (  15 years)  x  (4 (  12)]

x      2.22%


Amortization







$    4,440

Patent on Extrusion Process:


Allocated cost







$  68,000

 
Amortization rate [(1 year  (  12 years)  x  (7 (  12)]

x      4.86%


Amortization







$    3,305

Total 2007 cost recovery deduction (i.e., depreciation and amortization) is $147,182 ($112,000  +  27,437 +  $4,440  +  3,305).
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